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EFAE BH % EHh P 4134 2 L1137 EROAE | &REH
AXEHHL NS & H (3.83KiiH) & H (3.38K i) =4 4HR3H
4ATECK)  [KRCEA 2SR THRH (3.82K7) TR (3.38K ) =/ 4A3H
AN FER TR (3.81K5H) TR (337K =/ 4A3H
BREO—XA BER THRH (3.84K ) TR (341K =/ 4A6H
4A8R (K) | KR FER TR (3.85K ) TR (341K =/ 4A6H
H3x TR THRH (3.83K ) TR (340K 5) =/ 4A6H
AN—av ERE TR H (3.80FK5) TR (337K =/ 4A7H

4A98 (K)
42 EER THRH (3.82K7) TR (3.39K5) =/ 4A7H
oY = E &t (3.81KiiH) TR (3.405K ) A 48 8H
4A108 (%) |BBEA—XHA BER & H (3.80KiH) THRH (3.39K ) fE=HA 4H8H
H3* KRR TR (3.81K5H) TR (3.39K5) =/ 4A8H
BLLH =FR T (3.825K ) T (3.405K5H) =4 4R9AH
4A1BE(A) |FvRY FER Tia (382K ) FHE (339K ) =/ 4H9H
7KEK A J1HET & H (3.83KiiH) & (3.41KiH) fE=H4 489H
oL BT & H (3.865K i) & H (3.39K#H) fE=H4 48108
4A14B (K |BRIFEA 2SR Fiat (3.865K ) FHE (339K ) 15 FA 4A10R
KR FER Tt (3.80K i) T (3.385K i) =4 48108
Sk B/ 34 TR (3.82K5) | THEH (341KH) = 48138




4158 (K) |FvRY FER & H (3.80KiH) & H (3.39Ki#H) =4 4H13H
AN—av ERE THEH (3.81KiH) THEH (340K 37H) =/ 48138
42 2SR THRH (3.80K37) TR (3.36K ) Ed] 48148
4A168 (K) |XiB FER TR (3.82K ) TR (337K Ed] 48148
FrY FER TR (3.83K5H) TR (3.38K ) Ed] 48148
BKIFER 25 R IR (3.845K ) TRt (3.40KiH) fE=HA 4H15H
4A1TR(R) |B% R R TR (3.84K5H) THRHE (3.405K ) =/ 4A15H
7KE K =Pl T HRH (3.83KiH) TR (340K ) fE=HA 48158
$1oL AL T HRH (3.86K ) TR (342K ) fE=HA 48168
48208 (A)
FoRy FER THRHE (3.855K ) 3.87 =/ 4A16H
BLEA AFR TR (3.85K5E) | THEH (340K7H) = 48178
4218 (K) |AS FER T HRH (3.85K ) TR (340K ) A 48178
43 BER FHat (3.855K ) Fia (340K 5) 15 FA 48178
oY AL TH&H (3.845K i) g (3.41Ki#H) =4 4H20H
4A22B (K) |FRIRFHAR AT FHEH (3.82:K ) FHEH (3.39K ) =/ 48208
AN AL THEH (3.845K i) & (3.41Ki#H) =4 4H20H
BRCEA "'ER T (3.825Ki) | THRH (340K ) = 48218
4A23B(K) | S FER Fia (381K T (3.39K ) =/ 4F21R8
7KEK A JIET &t (3.825K i) & H (340K ) =/ 48218




BISAHA =2FR &t (3.845K i) & (3.40K#H) fE=HA 4H22H
4A248 (&) |HWHL AT THEH (3.85K i) 4.18 =/ 4A22H
S5l ARl THRH (3.855K i) THRHE (3.40K ) =/ 4A22H
BLHRA =FR TR (3.795K ) TR (3.37K#) Ed] 48 23H
4A278(A) |X1E FER TR (3.80K) THRH (3.385K ) =/ 4A23H
nE AL TR (3.805K i) TRt (3.385Ki#) fE=HA 4H23H
HL AR TR (381K THRH (3.365K ) =/ 4A24H
4A28B (X)) |BRCEA EER THRH (3.81K3H) TR (3.36K5) =/ 4A24H
FoRy FER TR (381K TR (337K =/ 4A24H
KR FER THRH (3.80K37) TR (3.36K5) =/ 4A27H
4A30H (K) |28 AT THRE (3.78FK ) 457 =/ 4A27H
BFHOLA =FR 4.67 4.28 M 4H27H




